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MARIS STELLA HIGH SCHOOL {PRIMARY) 
END-YEAR EXAM.INATION 

PRIMARY 5 MATHEMATICS· 
26 OCTOBER 2023 

PAPER 1 
(BOOKLET A) 

Total Time for Booklets A and B: 1 hour 

NAME: ______________ ( 

CLASS: PRIMARY 5 
_ _..,__ __

INSTRUCTIONS TO CANDIDATES 

) 

1. DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

2. FOLLOW ALL INSTRUCTIONS CAREFULLY.

3. ANSWER ALL QUESTIONS.

4. SHADE YOUR ANSWERS IN THE OPTICAL ANSWER SHEET (OAS) PROVIDED.

5. YOU ARE NOT ALLOWED TO USE A CALCULATOR.
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SCHOOL : 
LEVEL 
SUBJECT : 
TERM 

 

MARIS STELLA HIGH SCHOOL 
PRIMA RY 5 
MATHEMATICS 
2023 SA2 

 

PAPER 1 (BOOKLET A) 

01 3 02 4 

06 1 07 2 

011 1 012 2 

PAPER 1 (BOOKLET B) 

016 29 

017 4 fl min 

018 56 

9 
019 

40 

020 4.56 

021 
2 

1 QQ 
X $20000 = $400 

022 

023 

4u = 60 
1u = 15 

24cm2 

•-• ---······· 

2P + 4N = $26 
4P +2N = $22 

03 3 04 

08 3 09 
........ S,-••~••••� ••••'"' """m••~•••>s ••••-

Q13 3 014 

2 

3 

2 

024 
Make P the same by multiplying 2 to the first statement: 4P + 

: 

025 

026 
-· 

027 

028a 

Difference: SN - 2N = 6N 
6N = $52 - $22 = $30 
1N = $5 

Total area = 12u 
Unshaded area = 1 Ou - 3u = 7u 

Fraction unshaded = 
1

7

2 

$16 

Road C and Road D; Road B and Road E 

January and February 
-------

05 2 

010 3 
f············ · ··· ·····-···· 

015 2 

SN= $52 

Pg 1 
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028b 4 
.. ,_ ... , .. 

'r/ 

029a B )-*• · - D 

029b 

030 

PAPER 2 

01 

02 

03 

04a 

04b 

05 

06 

07 

08 

09 

010 

� 
C 

70° 

LCFE = 180° -58° -90° = 32° 

LAFB = 90° -32° -32° = 26° 

5 

12 

58° 

2 

S 
X 12 X 8 X 35 = 1344 ml

True 

False 

42 + 3 = 12 cm2 
16 + 2 = 8 cm2 
Area of Y = 12 + 8 = 20 cm2 

1 1 
9 -2-= 6- kg 

3 2 
1 3 1 

6- + 4-= 11- kg
2 5 10 

24 X 4 = 96 
276 -96 = 180 
Group 1 car and 1 bicycle as a set: total 6 wheels 
180 + 6 = 30 

3u = 3.09 -1.05 = 2.04 kg 
1u = 0.68kg 
Removed = 1.05 -0.68 = 0.37 kg 

Average mass of 6 boys= 6 x 52 = 312 kg 
Average mass of 4 boys = 4 x 48 = 192 kg 
Average mass of the 2 boys= (312 -192) + 2 = 60 kg 

Total pocket money for the week = $8 x 7 = $56 
Total saved in a week= $56 -$(5.60 x 5) = $28 
$35.20 -$28 = $7.20 
Amount saved on a weekday= $8 -$5.60 = $2.40 
$7.20 + $2.40 = 3 
3 + 7 = 10 days 

··--·---- ·-·-
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O11a

O11b

012

O13a

O13b

O14a

O14b

O15a

-·-----·-·· 

O15b

O16a

O16b

O17a

O17b

Total units = 16u
16u = 80
1u = 5
10u = 50

30 
80 

X 100% = 37.50%

Shop A
A: M
4 3)x2
8 : 6 

1u = 70
15u = 70x15 = 1050

Shop B
A: M
3 : 2)x
9 : 6 

LABG = 180° - 65° - 65° 
= 50° 

LDCF = 180° - 112° 
= 68° 

LBCH = 180° - 33° - 68° - 50° 
= 29° 

1
3
0
5
0 X $(450 + 450) = $315

Usual price of backpack = 

1�00 x $450 = $180

Discounted price = 

1
6
0
5
0 x $180 = $117

Total discount = 68 x $3.40 = $231.20
19F = $231.20 - $3.20 = $228
1 F = $228-;- 19 = $12

·-····-

Total files bought = 68 + 19 = 87
Amount given = 87 x $12 + $3.20 = $1047.20

19u = $5700
1u = $300
10u = $3000

-- . .  ----·---

3 Amount Betty had left = 

5 
x $3000 = $1800

Amount given to siblings = $1800-;- 4 = $450
Amount sister received = $450 -;- 4 = $112.50

Area of QRST = 16 x 4 = 64cm2 

Length of RO = 8cm
-·- -----· 

Area of LSRZ = 20 cm2 

Area of LZTU = 58.5 cm2 

Area of QUVW = 17 x 8 = 136 cm2 

Total area = 64 + 20 + 58.5 + 136 = 278.5cm2 

•.

.-�·-.. ·-·••-' 

··--·-···-···-"······ 

·- -----
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